Using properties of f, f’, and f” to sketch f on the interval [—1,1].

f(t) is positive
f(t) is increasing
f(t) is concave up

f(t) is positive
f(t) is increasing
f(t) is concave down

f(t) is negative
f(t) is decreasing
f(t) is concave up

f(t) is positive
f(t) is decreasing
f(t) is concave down

f(t) <0 f(t) <0
f/(t) >0 f,(t) <0 f'(t) >0 f(t) is decreasing
fu=o =0 (50 (1) i ) (50 £/6)_)
(SO f(t}//l(st) >0 ) (SO f(tf)”l(St) <0 ) f’(f) is increasing f’(t) is dec;asing
(so f(t) is ) (so f(1) s (so f"(t)___ and)f(t) is (so f"(t)___ and f)(t) is
-1 ! 1 1 ) 1 1 1
/(1) is negative £(#) is positive £(6) >0 £(t) <0
Ft) is 1/ntcreasmg f(t) is decreasing f't) <0 f'(t) >0
o 10— (s0 /(1)) 716) <0 7(0) >0
F'(t) is decreasing f/(t) is increasing
(so f"(t)___ and f)(t) is (so0 f(2) is )
—1 1 -1 1 —1 1 —1 1
f(t) <0 f'(t)>0 f'(t) >0 f(t) is decreasing
f(t) is decreasing f(t) is positive f(t)>0 f'(t) is increasing
f'(t) is decreasing f'(t) is increasing () <0 f(t) is negative




